WER 22 [ A5 U fRT AR

PA:  [ESKEHX

KA:  VUiSkEX

PWA: [& Sk A H B

PM:  [ESkAL#2

PWM: [B kA MLz

KM: ikl

PT: Sk EBHI CEFE)

BT:  HEXKEI CEFE)

KR (KA TR ABKETE, RS ILER A E .
HiR: HENE.

T2 Hfh, BEEE. 9585, T RINF.

IR 22 Jkg 2 L H IR

—. BRERK:

A =R (60 BE ) : G/ BUE

B: BHH=MIBL (55 FF ): &6/ B

C: BhIRMEL (130 or 29 &) : ZhifkaEh

D: J7HRLr (90 J%) - Btk

T T MR R

A: Machine Screw: HLIIE2

B: Tapping Screw: HYURZ (M T&/E 560 T 808 —H)
B-1: Sheet Metal Tapping Screw. (BkiA HBuig22)
B-2: Plastic Tapping Screw. ( ¥R, HXURZ)
C: Wooden Screw : AT

D: Drywall Screw : /KiEigigzz

= HE IR

a.Low Carbon Steel :{&Hi4N

b. SS-304 : Stainless Steel 304

c. SS-302: Stainless Steel 302 :ZEMHIMEELF

d. Aluminum 5052 :#5&4 5052

d. Brass: B

e. Bronze: T4l

f. UNS C11000 Copper: %4

VY. 5 WBRE2 RS S5

LENGHIL - $22



B: SEHIRL

C: iRz

Ar NHIPUBRIRZZ . Metric

Ex: M3 x 6 - P P B : M3 HUBURZ, 6mn K, +7, Bk, #HE.
Finish Code: ALALALFEFIAR

Head Code: k#4284

Thread Code

W22 A5 Drive Code: Sk, RFfiEAL S

Length Code: #EZZKJE (mm)

A-1: Thread Code: BRI

A HlIE 22 B B LU 22 SMEpRoR B 22 LS

WIM3 BIRRZZAME N 3. 00mm. ; M4 BIMRZZ4MZ 0 4. 00mm.
Metric Thread Size x Pitch:

Note: AMJMRLL TURLLAN S J5T7, 47 0 it R 22 5 .
I M3x0. 5, M4x0.70, M5x0.8 , M6xl.

TE AR AERITE, 8 AR

A-2: Length Code: #2£2KJ¥:

AL, EHEARIBZAKSE, B .

WR2e 2 MK bR, RSB N 2K, Ak
BV SKAB 2250 ob,  FLMR L2 7 Ja K BERR R & Sk e
A-3: Drive Code/ kB, FFfE.
—MRCH AR A0

a. Slotted: —% ( Minus )

b. Phillips: +% ( Plus)

c. Phil-Slot: —F/+%

d. Hex Scoket: H/Nf

e. One Way: fp CHATBAN, AATHRH)

A—4: Head Code/ k4.

—MRCH RS AN

a. Flat: Pk (8INJGE, TS TAEMSFF)

b. Oval: fafisk

c. Round: [&3k



d. Pan: [k

e. Truss: K[k

f. Hex : Nk,

A-5: Finish Code/ #FWLALIE.

— R A I

a. Z: Zine-Plated: #E4¥

b. Ni: Ni-Plated: #¥i

c. Tin—Plated: 5%

d. Zine Plated / Green Iridite: PEEEERIEALEE
e. Radiant Plated: #ETLE

f. Passivate: HUAfLALHE

g. Alodial Finish: JEAMWALER

NHIBBURZ T4 577 BFbR/R Tapping Type.
Ex: M3 x 6 -PPB, Tapping Type:

M3 HEUELZ, 6mn K, 7, Bk, $EE.

— ML= EAR N, FFINTA Sheet Metal BUEDRLHS &M,
B: RHIRZ.

a. —MRUAF ShioR, 1 #2-56, #4-40, #6-32, #8-32, #10-24---etc.
b. BRUASEHISMERR,

41 0.086-56, 0.112-40 , 0.138-32, 0.164-32 , 0.190-24---etc
Ex: 632 - 8 - P P B:

Finish Code: AMULALFEALR

Head Code: Skiff4hH

Drive Code: KHBHIVA, FHEAL =

Length Code: WR# K&

Thread Code: IZ#2%I=

B-1: Thread Code: #%#z%%5

— R A I

a. #2-56 (0.086-56): 2 7 56 F

b #4-40 (0.112-40) : 4 FH 40 F

c. #6-32 (0.138-32) : 6 & 32 F

d. #8-32 (0.164-32) : 8 ¥ 32 F



e. #10-24 (0.190-24): 10 % 24 F

sotok Y REIN Z FHYL okex

B-2: Length Code: 1%z K ¥

KRR L2 K LRI, A AT mm AT

H55AR: (Length Code / 32) x 25.40 = AHIKSE mm

B-3, B-4,B-5 : by AR

C: Bz

C-1: Thread Code:

bR EWE BN 8, FHEER TZES.

Ex: 1/8 x 0.50 -PPB: 1 73424 x 0.50” K, PPB

Ex: 5/16 x 0.50 -PPB = 2.5/8 x 0.50-PPB : 2 4»3ZF#8%2 x 0.50” 4, PPB
Ex: 5/32 x 0.50 -PPB =1.25/8 x 0.50-PPB: 1 432 JEfiE2 x 0.50” &, PPB
Ex: 1/4 x 0.50-PPB= 2/8 x 0.50-PPB: 2 4}Fi8% x 0.50” K, PPB

e AN bR B

UNF: 405 - Bl H.

UNC: KL« EEHURAS M08 F.

Ex: 3/8 x 0.50 ,UNF -PPB: 3 Z;4if'i8% x 0.50” +, PPB.

C-2: Length Code:

RNPEMbRoR, gLl 25. 40 SN mm.

R, 5 AR V&R ARIREL, 5 SEHRaIY) A2 SRS

WA LU -R REIESUAME, FEEE.

AHBREUIME R VK N AL, 16, 8, 10, 12, 18, 20 ZRSFESIRIE MR LI K N, @10.5,0.75, 1, 1.5, 2, 3, %46
PLHRIBS MRS AT By, (TS T 254 Z22K) W13/16, 5/8, 1/4, 1/2, S5 57 LU AR R B AMEEH0R 5 A HUU R /N

PRI R I & 2 DN FROR . B RRUESE 25, 4 22K, T DRURKFHRACFR, 55— RRIIX FHRSUF R LR g,
XIAFHREUF RN %A A il BREL -

DU MR B N o 2 FE MRS K A SR BB ENAE OB 28 L, W28 LA ED BRI, (T IE . WA HIREE N Z IR — Bk, 1010, 15, 20, 22K
5, T EZATF, g

FHEREIN S B R s R SCRUS R A SR A, e G617 P A il SR 2 KR E BRSO (K A RS, i M30.

T LN (24. 5 JHK) WA 205 RER), — R 55 BEA. A2 P8 25 R BT B 22 /b MM SR SE HORER, — B0 60 A



